1/0 do/dN,

Ratio to ATLAS

=

=
<
I

1072

1073

1074

107

107°

[EEY

0.5

7000 GeV pp Soft QCD
= 1 ] 1 T T T ] T
- Charged multiplicity(N_ > 6, p_> 0.5 GeV) .
- m ATLAS R .
| --0-- Herwig++ 2.7.1 default ]
= --3-- Herwig 7.0.3 default N0 =
- A~ Herwig 7.0.3 UE-MMHT & -
S O T S AU
g o 3
— tca -
- o7 7
n o7 ]
I ,” it E—-‘-.‘..‘._—,_—_ _______ ]
B o - A i
n P Ve ¥ _

o A, T
oo o & N
- N & .
1 1 1 1 | " 1 1 1 1 " | " 1 1
50 100

Rivet 3.1.0, = 7.3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


